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DU MPhil PhD in Adult Continuing Edu N Extn

Topic:- DU_J18_MPHIL_ACEE

A doctor studies the effectiveness of two drugs of dengue fever. His research would be classified as: 
 

[Question ID = 30881]

1. Descriptive survey /  [Option ID = 63518]
2. Case study /  [Option ID = 63516]

3. Ethnography /  [Option ID = 63517]
4. Experimental research /  [Option ID = 63519]

Correct Answer :-
Experimental research /  [Option ID = 63519]

A null hypothesis is: 
 

[Question ID = 30880]

1. The same as research hypothesis /  [Option ID = 63513]
2. When there is a difference between the variables /  [Option ID = 63514]
3. When there is no difference between the variables. /  [Option ID = 63515]
4. Subjective in nature /  [Option ID = 63512]

Correct Answer :-
When there is no difference between the variables. /  [Option ID = 63515]

Which of the following statements is not true in the context of participatory research?

[Question ID = 30888]

1. Its sole purpose is production of knowledge /  [Option ID = 63547]

2. It emphasizes on people as experts. /  [Option ID = 63545]

3. It is a collective process of enquiry /  [Option ID = 63546]

4. It recognizes knowledge as power. /  [Option ID = 63544]

Correct Answer :-

Its sole purpose is production of knowledge /  [Option ID = 63547]

Which of the following statement is correct?

[Question ID = 30868]

1. Discoveries are researches /  [Option ID = 63464]

2. Invention and research are related /  [Option ID = 63466]

3. None of the above/  [Option ID = 63467]
4. Researches lead to discovery /  [Option ID = 63465]
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Correct Answer :-
Researches lead to discovery /  [Option ID = 63465]

Which of the following statement is correct?

[Question ID = 30869]

1. Objectives should be pin-pointed /  [Option ID = 63468]

2. Objectives can be written in statement or question form /  [Option ID = 63470]

3. Another word for problem is variable /  [Option ID = 63469]
4. All of the above /  [Option ID = 63471]

Correct Answer :-

Objectives should be pin-pointed /  [Option ID = 63468]

Which of the following are the basic rules of APA style of refereeing format?

(A) Italicize titles of shorts worker such as Journal articles or essays 

(B) Invert authors name (Last name first)

(C)  Italicize titles of longer works such as books and journals.

(D) Alphabetically index reference list.

Select the correct answer with the help of codes:

[Question ID = 30889]

1. B, C, & D [Option ID = 63549]
2. A & B [Option ID = 63548]
3. C & D [Option ID = 63550]
4. A, B, C, & D [Option ID = 63551]

Correct Answer :-
B, C, & D [Option ID = 63549]

‘National Adult Education Programme’ and ‘National Literacy mission’ was started in-
 

[Question ID = 30910]

1. 1999 & 2001 [Option ID = 63635]
2. 1976 & 1982 [Option ID = 63632]
3. 1978 & 1988 [Option ID = 63633]
4. 1986 & 1992 [Option ID = 63634]

Correct Answer :-
1978 & 1988 [Option ID = 63633]

Evaluation research is related to-
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[Question ID = 30913]

1. How well are we doing? /  [Option ID = 63646]

2. Why are we doing? /  [Option ID = 63644]
3. What are we doing? /  [Option ID = 63645]

4. None of the above /  [Option ID = 63647]

Correct Answer :-

How well are we doing? /  [Option ID = 63646]

Source of information may be called as-
 

[Question ID = 30909]

1. Foot notes /  [Option ID = 63628]

2. Research methodology /  [Option ID = 63629]
3. Preface /  [Option ID = 63630]

4. Acknowledgment /  [Option ID = 63631]

Correct Answer :-

Foot notes /  [Option ID = 63628]

Why does validity pose a problem for qualitative research?.
 

[Question ID = 30903]

1. Because validity is only an issue in quantitative research. /  [Option ID = 63607]

2. Because there is not any quantitative data on which to answer validity. /  [Option ID = 63606]

3. Because the measurement of validity implies that there is something which can be measured. /  [Option ID =
63605]

4. Because the validity of interviewer cannot be measured /  [Option ID = 63604]

Correct Answer :-

Because the measurement of validity implies that there is something which can be measured. /  [Option ID =
63605]

Workshops are meant for:

[Question ID = 30885]

1. Showcase new theories/नए िस�ांतो ंका �द’ [Option ID = 63534]
2. Multiple target groups  [Option ID = 63533]
3. Hands on training / experience /  [Option ID = 63535]
4. Giving lectures  [Option ID = 63532]

Correct Answer :-
Hands on training / experience /  [Option ID = 63535]

Applied research is concerned with

?
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[Question ID = 30864]

1. Understanding social world /  [Option ID = 63448]

2. Concerned with measuring the effectiveness of an action programme. /  [Option ID = 63451]

3. Concerned with solving specific problems /  [Option ID = 63449]

4. Conducted by controlling one or more variables /  [Option ID = 63450]

Correct Answer :-

Concerned with solving specific problems /  [Option ID = 63449]

Identify the main characteristics of scientific research among the options written below.

[Question ID = 30886]

1. Theoretical /सै�ांितक [Option ID = 63537]
2. Experimental /  [Option ID = 63538]
3. Empirical /  [Option ID = 63536]
4. All above are correct /  [Option ID = 63539]

Correct Answer :-
All above are correct /  [Option ID = 63539]

The study in which the investigator attempt to trace an effect is known as:
 

[Question ID = 30874]

1. Survey research /  [Option ID = 63488]
2. Historical research  [Option ID = 63489]
3. Ex-post Facto’ research /  [Option ID = 63491]
4. Summative research /  [Option ID = 63490]

Correct Answer :-
Ex-post Facto’ research /  [Option ID = 63491]

In the process of conducting research “Formulation of Hypothesis” is?
 

[Question ID = 30884]

1. Collection of data /  [Option ID = 63529]

2. Analysis of data /  [Option ID = 63528]

3. Statement of objectives /  [Option ID = 63530]
4. Selection of research tool /  [Option ID = 63531]

Correct Answer :-
Collection of data /  [Option ID = 63529]

How do you define language, answer the correct choice.
 

[Question ID = 30907]

1. Medium to express experiences /  [Option ID = 63622]
2. Instinctive development /  [Option ID = 63620]
3. medium for self enhancement /  [Option ID = 63623]
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4. System of Symbols for effective communication /  [Option ID = 63621]

Correct Answer :-
Medium to express experiences /  [Option ID = 63622]

In qualitative research paradigm, which of the following features may be considered critical.
  

[Question ID = 30890]

1. Sampling design with probability sample technique /  [Option ID = 63553]

2. Data gathering with bottom-up empirical evidences /  [Option ID = 63554]

3. Data glancing to take place with top-down systematic evidences. /  [Option ID = 63555]

4. Data collection with standardized research tools. /  [Option ID = 63552]

Correct Answer :-

Data gathering with bottom-up empirical evidences /  [Option ID = 63554]

Survey research is conducted to study

[Question ID = 30867]

1. Events / घटना [Option ID = 63460]
2. Circumstances /  [Option ID = 63463]
3. Population /  [Option ID = 63462]
4. Processes /  [Option ID = 63461]

Correct Answer :-

Population /  [Option ID = 63462]

Multiple regressions can be used to: -

[Question ID = 30900]

1. Determine what the size, sign & significance of particular parties are in an explanatory model of behavior/
[Option ID = 63594]

2. Determine the maximum number of predictors which can explain the maximum variable in the criterion /
[Option ID = 63593]

3. Look at the predictiveness of a particular set of variables /  [Option ID = 63592]

4. All of the above /  [Option ID = 63595]

Correct Answer :-

All of the above /  [Option ID = 63595]

Bibliography given in a research report:

[Question ID = 30873]
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1. Has no relevance to research /  [Option ID = 63484]

2. Shows vast knowledge of the researcher /  [Option ID = 63485]

3. Helps those interested in further research /  [Option ID = 63486]
4. All of the above/  [Option ID = 63487]

Correct Answer :-

Helps those interested in further research /  [Option ID = 63486]

Sampling in qualitative research is similar to which type of sampling in quantitative research. 
 

[Question ID = 30905]

1. Simple random sampling /  [Option ID = 63612]
2. Systematic sampling /  [Option ID = 63613]

3. Purposive sampling /  [Option ID = 63615]
4. Quota sampling /  [Option ID = 63614]

Correct Answer :-

Purposive sampling /  [Option ID = 63615]

A satisfactory statistical quantitative method should not possess one of the following qualities.
 

[Question ID = 30902]

1. Appropriate /  [Option ID = 63603]
2. Comparability /  [Option ID = 63602]
3. Measurability /  [Option ID = 63601]
4. Flexibility /  [Option ID = 63600]

Correct Answer :-
Flexibility /  [Option ID = 63600]

How can the objectivity of the research be enhanced?

[Question ID = 30879]

1. Through its validity /  [Option ID = 63508]
2. Through its reliability /  [Option ID = 63509]
3. Through its impartiality /  [Option ID = 63510]

4. All of the above /  [Option ID = 63511]

Correct Answer :-

All of the above /  [Option ID = 63511]

Identify source of soil pollution -
 

[Question ID = 30911]

1. Water from mines /  [Option ID = 63638]

2. All are correct /  [Option ID = 63639]
3. Acid rain & garbage /  [Option ID = 63636]
4. Industrial waste /  [Option ID = 63637]
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Correct Answer :-

All are correct /  [Option ID = 63639]

A detailed description of methodology of research is required in
  

[Question ID = 53376]

1. Symposium/Workshop /   [Option ID = 93491]
2. Seminar paper / Articles /  [Option ID = 93492]
3. Thesis/Dissertation /  [Option ID = 93490]
4. Conference & Seminar Paper /  [Option ID = 93493]

Correct Answer :-

Thesis/Dissertation /  [Option ID = 93490]

. Generalized conclusion on the basis of the sample is technically known as:

[Question ID = 30875]

1. Statistical inference  [Option ID = 63492]
2. Data analysis and interpretation /  [Option ID = 63494]
3. Parameter inference /  [Option ID = 63493]
4. All of the above /  [Option ID = 63495]

Correct Answer :-
Data analysis and interpretation /  [Option ID = 63494]

. A research paper is a brief report of research work based on:

[Question ID = 30882]

1. Both Primary and secondary data /  [Option ID = 63522]

2. Primary data only /  [Option ID = 63520]
3. Secondary data only /  [Option ID = 63521]
4. None of the above /  [Option ID = 63523]

Correct Answer :-

Both Primary and secondary data /  [Option ID = 63522]

The mean deviation of the values 18.12, 15, is
 

[Question ID = 30898]

1. 6 [Option ID = 63584]
2. 2 [Option ID = 63587]
3. Zero [Option ID = 63585]
4. 3 [Option ID = 63586]

Correct Answer :-
2 [Option ID = 63587]

What kind of statistical test is used for a global test of significances?
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[Question ID = 30897]

1. Z test /  [Option ID = 63580]
2. F test /  [Option ID = 63583]
3. t- test /  [Option ID = 63581]
4. Chi – square /  [Option ID = 63582]

Correct Answer :-
F test /  [Option ID = 63583]

Diagnostic evaluation ascertains:
 

[Question ID = 30887]

1. Degree of achievement of instructions at the end. /  [Option ID = 63542]

2. Learning progressed failures during instructions /  [Option ID = 63541]

3. Cause & remedies of persistent leaving problems during instructions /  [Option ID = 63543]

4. Students performance at the beginning of instructions /  [Option ID = 63540]

Correct Answer :-

Cause & remedies of persistent leaving problems during instructions /  [Option ID = 63543]

[Question ID = 31277]

1.  [Option ID = 65100]

2.  [Option ID = 65101]

3.  [Option ID = 65102]

4.  [Option ID = 65103]

Correct Answer :-

 [Option ID = 65103]

[Question ID = 31279]

1.  [Option ID = 65109]

2.  [Option ID = 65108]

3.  [Option ID = 65111]

4.  [Option ID = 65110]

Correct Answer :-

 [Option ID = 65111]
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[Question ID = 30877]

1. Quota Sampling /  [Option ID = 63500]
2. Systematic Sampling /  [Option ID = 63502]

3. Cluster sampling /  [Option ID = 63501]

4. Stratified random sampling /  [Option ID = 63503]

Correct Answer :-

Systematic Sampling /  [Option ID = 63502]

[Question ID = 31276]

1. Deductive inference / िवयोजक अनुमान [Option ID = 65099]

2.  [Option ID = 65096]

3.  [Option ID = 65098]

4.  [Option ID = 65097]

Correct Answer :-

 [Option ID = 65098]

With regard to email, What does BCC : mean?
 

[Question ID = 30894]

1. Blind computer communication: The user specified is the BCC: field will get the email but it will be an audio file because this is how blind people get email

/  [Option ID = 63571]
2. Blind computer communication: the users specified in the: BCC: field will get the email and see the addresses in the to: and CC : fields. / 

 [Option ID = 63568]
3. Blind carbon copy: the users specified in the BCC : field will get the email and see the addresses in the to: and CC: fields. / 

 [Option ID = 63569]
4. Blind carbon copy: The users specified in BCC: field will get the email but will not see the address is the to: and CC: fields. / 

 [Option ID = 63570]

Correct Answer :-
Blind carbon copy: The users specified in BCC: field will get the email but will not see the address is the to: and CC: fields. / 

 [Option ID = 63570]
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Formulation of hypothesis may not be required in :

[Question ID = 30876]

1. Historical studies /  [Option ID = 63497]
2. Normative studies /मानक अ�यन [Option ID = 63498]
3. Experimental studies /  [Option ID = 63499]
4. Survey method /  [Option ID = 63496]

Correct Answer :-

Historical studies /  [Option ID = 63497]

What is the primary function of inter disciplinary research?
  

अंतः िवषय  शोध का �ाथिमक काय� �ा है?

[Question ID = 30870]

1. To reduce the emphasis of single subject in research domain. /  [Option ID = 63475]

2. To create a new trend in research methodology /  [Option ID = 63474]
3. To bring out holistic approach to research /  [Option ID = 63473]
4. To over simply the problem of research /  [Option ID = 63472]

Correct Answer :-
To bring out holistic approach to research /  [Option ID = 63473]

Which of the following is not the critical feature of qualitative research?
 

[Question ID = 30892]

1. Seeking to establish relationship among measured social fact./  [Option ID = 63562]

2. Research becomes immersed is the situation, present or past related to the phenomena /  [Option ID = 63563]

3. Data take the forms of words or pictures. /  [Option ID = 63561]

4. Actual settings are the direct source of data /  [Option ID = 63560]

Correct Answer :-

Seeking to establish relationship among measured social fact./  [Option ID = 63562]

Which of the following is not an example of non-.random sampling technique.
 

[Question ID = 30901]

1. Convenience /  [Option ID = 63598]
2. Quota /  [Option ID = 63597]
3. Cluster /  [Option ID = 63599]
4. Purpose /  [Option ID = 63596]

Correct Answer :-
Cluster /  [Option ID = 63599]

Which of the following statements are correct about distance education in India? (A) It supplements formal education (B) It reduces
the cost of education (C) It replaces the formal education (D) it enhances access to education
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[Question ID = 30895]

1. a, b & d [Option ID = 63574]
2. a, b, c & d [Option ID = 63572]
3. a, c, & d [Option ID = 63573]
4. b, c & d [Option ID = 63575]

Correct Answer :-
a, b & d [Option ID = 63574]

Which of the following is the most comprehensive source of population data? 
 

[Question ID = 30878]

1. National sample surveys /  [Option ID = 63505]
2. National Family Health Surveys /  [Option ID = 63507]
3. Demographic Health surveys /  [Option ID = 63506]
4. Census /  [Option ID = 63504]

Correct Answer :-
Census /  [Option ID = 63504]

Which of the following are statutory bodies (A) Election commission of India (B) University grant commission UGC (C) All India
council for Technical education (D) National assessment & accreditional council Codes:

 

[Question ID = 30896]

1. b & d [Option ID = 63579]
2. b & c [Option ID = 63578]
3. b, c & d [Option ID = 63577]
4. a, b, & c [Option ID = 63576]

Correct Answer :-
b, c & d [Option ID = 63577]

. Longitudinal research approach deals with-

[Question ID = 30866]

1. Horizonal researches /  [Option ID = 63458]
2. Long-term researches /  [Option ID = 63457]
3. Short-term researches /  [Option ID = 63456]
4. None of the above /  [Option ID = 63459]

Correct Answer :-
Long-term researches /  [Option ID = 63457]

The main role of Education according to Plato was the following. Tick the right choice.
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[Question ID = 30906]

1. To strengthen the state. /  [Option ID = 63617]

2. To develop the personality of each Individual. /  [Option ID = 63618]

3. To develop the power of contemplator. /  [Option ID = 63616]

4. All of the above /  [Option ID = 63619]

Correct Answer :-

All of the above /  [Option ID = 63619]

The first step of research is :

अनुसंधान का पहला चरण है:

 

[Question ID = 30872]

1. Selecting a problem / सम�ा का चयन [Option ID = 63481]
2. Identifying a problem / सम�ा की पहचान करना [Option ID = 63483]
3. Searching a problem / सम�ा की खोज 

[Option ID = 63482]
4. Finding a problem/ सम�ा ढँूढना [Option ID = 63480]

Correct Answer :-
Identifying a problem / सम�ा की पहचान करना [Option ID = 63483]

The following equation indicates the relationship among average median and mode

[Question ID = 30899]

1. Mean = 2 mode – 3 median /  [Option ID = 63589]
2. Mode= 3 Median – Mean /  [Option ID = 63588]
3. None of the above /  [Option ID = 63591]
4. Median = 3 Mean – 2 Mode /  [Option ID = 63590]

Correct Answer :-
Mode= 3 Median – Mean /  [Option ID = 63588]

Research can be classified as:

[Question ID = 30871]

1. Basic, Applied and Action research /  [Option ID = 63476]

2. Quantitative and qualitative research /  [Option ID = 63477]

3. Philosophical, Historical, survey and Experimental research /  [Option ID = 63478]

4. All of the above /  [Option ID = 63479]

Correct Answer :-

All of the above /  [Option ID = 63479]

Research and Development become the index of development of a country. Which of the following reasons are true with regards to
this statement?
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[Question ID = 30865]

1. Because R & D can improve the standard of living of the people in a country /  [Option ID = 63453]
2. Because R & D targets the human development /  [Option ID = 63452]

3. Because R & D reflect the true economic and social conditions prevailing in a country /  [Option ID = 63454]

4. All of the above  [Option ID = 63455]

Correct Answer :-

All of the above  [Option ID = 63455]

------------ is a type of memory circuitry that holds the computers start up routine
 

[Question ID = 30891]

1. ROM /  [Option ID = 63558]
2. RIM /  [Option ID = 63556]

3. RAM /  [Option ID = 63557]

4. Cache memory /  [Option ID = 63559]

Correct Answer :-

ROM /  [Option ID = 63558]

One of the aim of the scientific method in research is to

[Question ID = 30904]

1. Confirm triangulation /  [Option ID = 63608]
2. Introduce new variables /  [Option ID = 63609]

3. Improve data interpretation /  [Option ID = 63610]

4. Eliminate false correlation /  [Option ID = 63611]

Correct Answer :-

Eliminate false correlation /  [Option ID = 63611]
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